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(1) x=-1, y=2M&EE, (4x+2y)—(7x-y) DfE

=
=

(2) a=4, b=—2m&¢%E, 4(a-b)-5(a+3b) DIE
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(@) x=—4, y=2M&E, 2(2x-y)—(5x+3y) DIE
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(4) a=2, b=-3M&ZE, 8a’h’+4a’b DIE
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(5) x=-2, y=5M&E, 9x’y* +3xy DIE

=
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6) a=3, b=%0)&%, 2(3a—5b)—3(a—2b) MDIE
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(M) x=3, y=050D&E, (7x-2y)-2(3x+y) DIE
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ROXDEZRDHIESLY,
(1) x=-1, y=2M&EE, (4x+2y)—(7x-y) DfE
*

(4x+2y)—(7x—y)

=4X+2y-TIx+Yy

=-3x+3y

—3x(—1)+3x2
=3+6
=9

& 9

(2) a=4, b=—2m&ZE, 4(a-b)-5(a+3b) DIE
*
4(a—b)-5(a+3b)
=4a-4b-5a-15b
=-a—19b

—4-19x(-2)

=-4+38
=34
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(@) x=—4, y=2M&E, 2(2x-y)—(5x+3y) DIE
*

2(2x—y)—(5x+3y)

=4x—-2y—-5x-3y

=—-X—29Yy

~(~4)-5x2
=4-10
=6

& —6

(4) a=2, h=-3D&ZE, 8a’n*+4a’h DIE
*

8a°n? ~4a’
_8a’h’
4a%h
=2ab
2x2x(—3)
=-12
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(5) x=-2, y=5M&E, 9x’y* +3xy DIE
*
9x°y? + 3xy
_ oy’
3xy

=3x%y
3x(—2)2x5

=3x4x5
=60
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6) a=3, b=%0)&%, 2(3a—5b)—3(a—2b) DIE
*
2(3a—5b)—3(a—2b)
=6a—-10b—-3a+6b
=3a—-4b

1
3x3 4x2

=9-2
=7
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(M) x=3, y=050D&E, (7x-2y)-2(3x+y) DIE
*

(7x-2y)—-2(3x+Yy)

=7X—-2y—-6x-2y

=Xx—-4y

3-4x0.5
=3-2
=1




